130/22 - T

Question Booklet Alpha Code

A

"ON °IS 19pjoog uonsanp

Total Number of Questions : 100

Maximum Marks : 100

Time : 90 Minutes

10.

11.

12.

13.

14.

INSTRUCTIONS TO CANDIDATES

The Question Paper will be given in the form of a Question Booklet. There will be four
versions of Question Booklets with Question Booklet Alpha Code viz. A, B, C & D.

The Question Booklet Alpha Code will be printed on the top left margin of the facing sheet
of the Question Booklet.

The Question Booklet Alpha Code allotted to you will be noted in your seating position in
the Examination Hall.

If you get a Question Booklet where the alpha code does not match to the allotted Alpha
Code in the seating position, please draw the attention of the Invigilator IMMEDIATELY.

The Question Booklet Serial Number is printed on the top right margin of the facing sheet. If your
Questign Booklet is un-numbered, please get it replaced by new Question Booklet with same
Alpha Code.

The Question Booklet will be sealed at the middle of the right margin. Candidate should
not open the Question Booklet, until the indication is given to start answering.

Immediately after the commencement of the examination, the candidate should check that
the Question Booklet supplied to him/her contains all the 100 questions in serial order. The
Question Booklet does not have unprinted or torn or missing pages and if so he/she should
bring it to the notice of the Invigilator and get it replaced by a complete booklet with same Alpha
Code. This is most important.

Question Serial No. 1 to 80 are grinted both in English and in Tamil. Doubts regarding
the meaning and translation of Question Serial No. 1 to 80 will be settled based on the
Questions in English.

Twok blank pages are provided before the last page of this Question Paper for rough
work.

Please read carefully all the instructions on the reverse of the Answer Sheet before
marking your answers.

Each question is provided with four choices (A), (B), (C) and (D) having one correct answer.
Choose the correct answer and darken the bubble corresponding to the question number
using Blue or Black Ball Point Pen in the OMR Answer Sheet.

Each correct answer carries 1 mark and for each wrong answer 1/3 mark will be
deducted. No negative mark for unattended questions.

No candidate will be allowed to leave the examination hall till the end of the session and
without handing over his/her Answer Sheet to the Invigilator. Candidates should ensure
that the Invigilator has verified all the entries in the Register Number Coding Sheet and
that the Invigilator has affixed his/her signature in the space provided.

Strict compliance of instructions is essential. Any malpractice or attempt to commit any
kind of malpractice in the Examination will result in the disqualification of the candidate.
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1. Which statements regarding the Fourth Provincial Conference of KPCC are true ?

i. It anticipated the ‘Poorna Swaraj’ resolution adopted by Indian National Congress
in its Lahore Session of 1930.

ii. It passed a resolution demanding the formation of a separate Kerala Province.
iii. It was presided over by Sarojini Naidu.
iv. It was held at Payyannur.
A) i, ii and iii B) ii, iii and iv
C) i,iiand iv D) i, iii and iv
2. Find out the Malayalam novels with Wayanad and its people as themes, from the
list given below.
i. ‘Ummachu’ by Uroob
ii. ‘Nellu’ by P. Valsala
iii. ‘Maveli Manram’ by K. J. Baby
iv. ‘Orotha by Kakkanadan

A) i, ii, iii B) i, iii, iv
C) i, ii, iv D) i, iii, iv
3. Who wrote :“l am convinced that the only key to the solution of World’s problems
and of India’s problems lies in Socialism. .. ” ?
A) Karl Marx

B) Bhagat Singh
C) Subhash Chandra Bose
D) Jawaharlal Nehru

4. Trace out the personalities not related to ‘The Provisional Government of India’
established at Kabul.

i. Captain Lakshmi
ii. Mahendra Pratap
iii. Chempakaraman Pillai
iv. Subhash Chandra Bose
A) i, ii B) i, iii
C) iii, iv D) i, iv
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KPCC uiest precsismegy Longmesst ompa® OSmL_fiLmes 61bs BEnSEH6T 2 GRrenLd ?
i. 1930 gyt essr(R) WMdail YLoialed @QBHw CaFw SMEIH FevTed eIPmIsoIETeTaTILIL L
‘LienT eaveugngsy SALoneTSed @) TP TLITISSS5.

ii. sefl Capar orsmesId ewidsd CHmpLd Gionersens s BHlenp Coupmluig).
iii. #FGurgdlest) BTy(R FeweverLd UFGSTI.

iV. eoLweienried peoL ClLPDS.

A) i, i opmyub iii B) i, iii ommyib iv

C) i, ii ommyib iv D) i, iii ommyib iv

GG Csr®SsLILL ReTar L quedled @ Bbg BT LOPMILD HSGT LOEHE T
SHLIOLITHATTS O)HTGHTL LOGGWITT BTAICOEHEDGTE HGTL MG LD

I. 2 emLy eTpBw ‘2 LbLOTFSF

i. P. euebFeur erp@us ‘Glpebayr’

iii. K. J. Guid erp®uw ‘1onGeuad) oeitpLd’

V. &1éspIL_estler ‘@GrisT

A) i, i, i B) i, iii, iv

C) i, ii, iv D) i, iii, iv
“o v& LgFFemerser wpmib QpFwnalet LgiFenesiasepdhsreat eCr FmeyGsred
ConFadllssGlev 2 6itens) eTedin) Bc o MPwns HLoLHCnet’ @ens wri eT(LpGuig 2
A) smicd omigev

B) uss Fmi

C) sumay 587 CLmev

D) &euamievmey Gr(p

SMLeSled aVSTSSLILIL L ‘QBSW YIFTBISSSIL 6T CFm_ilebevns pLITS®ars
HGHTL_ MG LD

i. Csi1_etT evL” &b
ii. Csp8lr Lggm
iii. QFbLsFTLOGT LIeTewarr
iv. &umey sH@r CLimev
A) i, ii B) i, iii
C) iii, iv D) i, iv
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5. Find out the correctly matched details regarding some major World Organizations
listed below.

i. The League of Nations — Woodrow Wilson — Treaty of Versailles.
ii. The United Nations — Franklin D. Roosevelt — The Atlantic Charter.
iii. The Commonwealth of Nations — Arthur James Balfour — Statute of Westminster
A) All of the above B) i andii only
C) ii and iii only D) None of the above

6. Amendment to which of the following made possible the ‘Har Ghar Tiranga’ campaign
related to ‘Azadi Ka Amruth Mahotsav’ ?

i. The Emblems and Names (Prevention of Improper Use) Act, 1950.
ii. Flag Code of India, 2002.
iii. The Prevention of Insults to National Honour Act, 1971.
A) All of the above  B) ii only C) ii andiii D) iandiii

7. Match the following :

List -1 List-1I

a. Chenab I. Tsangpo

b. Chambal II. Dhuan Dhar Falls

c. Brahmaputra Ill. Bara Lacha Pass

d. Narmada IV. Badland topography
Codes :

A) a-IvV b-ll c—1 d—Ii

B) a-llll b-IV c-I d-1ll

C) a-ll b-1 c—Iv. d-l

D) a-I b-IV c-1l d-Il

8. Assertion (A) : Gulf stream combines with Labrador current produce dense fog in
North Atlantic.

Reason (R) : When warm currents meet with cold current inversion of temperature
happens.

Codes :

A) Both (A) and (R) are true, (R) is the correct explanation of (A)

B) Both (A) and (R) are true, but (R) is not the correct explanation of (A)

C) (A) is true, but (R) is false

D) (A) is false, but (R) is true
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. &0 ulquedl i Reter Hev (LpSHIW 2wk YLOLIL|GETL PP FiwrsL
QurppE@w allerkiseard e HuayLb.

. 64 9o%Lt Grapsiiev — 2 1" Gy allevaest — OleudFmiien eLILIbSLD

i. @G prkser— Kgrsisefiesr D. epev6leuev” — oy1° eoreiriyd FaFesib

iii. &MLoeTOleucS oLt Craweitav — 9y igT Gagbev LImevesGLimT — evGL_da 9oLt

Geuevl” LeTevL_it
A) CuoGov 2 6itar oje»esidgILb B) i, ii or" @b
C) i, iii o ®1b D) GuwGev e1g1ayb @)cvemev

. ‘Frs a1 b wCanndFer GgmLfumest ‘api 1 HomsT KgEFTIS®S
LestaupeuesTaipmley 61hsd FH(BSSLD FTSFWLoTEHWSG 7
i. @esrermiser wHmib Cluwiser ((peopwnn LweTLT® $GLY) L ib, 1950.
i. @pFwrailer Glsmg @nplui®, 2002.
iii. pm 196 @uflayseerns sBH1EGHLD Clsengeud Fi'r b, 1971.
A) CuoGov 2 ditar oje»esidgILb B) i o @b
C) ii opmyb iii D) i pmyb iii

. ereupeuaaupemr OLmpds) :

o iquiey — | i g uiey — |l
a. Qgermty l. #mmiGum
b. #bLied Il. sieunest s Brafpsd)
C. WgibioLdum . wmgm evndsm Lmav
d. pigT IV. Gui evressrl Blevliigiiny
CIINOE
A) a-IV b-ll c—1I d—Ii
B) a-Ill b-IV c-I d—Ii
C) a-ll b-I c—-Iv d-1l
D) a-I b-IV c-1l d-Il

. auadlymigsev (A) @ euemergLm KECITemL. UL @ 9L evneigEHed rligGLmi

LOGTCTTL L S%iL 65T Q)ewenthgl L ibGwneT ep(hLest] eIDLIBS DS

sgessitd (R) 1 @afli WesGesrmi’ gy et @Lrest FCymL L Biger bFd@d Gung)

QeutiLplenevudest emev@Lp LOAYDLD BlSLHF DS/

@GP s6IT :

A) (A) wpmib (R) @uessipib 2 evstewio, (R) ereirigy (A) @)esr #flwner aflardsib

B) (A) wpmib (R) @uew®ib o evsenin, gyermev (R) ereirig (A) @6t Fflwmes aflerdsib
9/GVGV

C) (A) ereirigy s, gy ermed (R) eretrLig Feupmess)

D) (A) eretrigy seumy, yevmmed (R) ererigy i)

-5-
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9. Which of the following statements are correct ?
a. Meeting of trade winds take place within a narrow zone called Intertropical
Convergence Zone.
b. Doldrum is the belt of calm and variable wind.

c. The subtropical high-pressure belt between 25° and 40° latitudes is known as horse
latitude.

d. Westerlies blow in between 60° and 90° latitudes.
Codes :

A) Statement a and b are correct and ¢ and d are incorrect
B) Statement b and d are correct and a and c¢ are incorrect
C) Statement b, c, d are correct and a is incorrect

D) Statement a, b, ¢ are correct and d is incorrect

10. Indian topographical maps based on different scale is given below. Choose the
correct order based on large scale in ascending order.

A) Million Sheet, Quadrant Sheet, 15' Sheet, Degree Sheet
B) Million Sheet, Degree Sheet, Quadrant Sheet, 15 Sheet
C) Million Sheet, 15 Sheet, Degree Sheet, Quadrant Sheet
D) Million Sheet, Quadrant Sheet, Degree Sheet, 15 Sheet

11. The mineral based industries of Kerala and their location is given below. Select the
correct answer using the code given below in the list.

List -1 List =1l
(Industry) (Location)
I. Indian Rare Earth Limited a. Thiruvananthapuram
Il. Travancore Cements Limited b. Kannur

lll. Kerala Clays and Ceramic Products Limited  c. Chavara

IV. English Indian Clays Limited d. Kottayam
Codes :

A)l-d Ill-b lll-—a IV-c

BylI-b Ill-a lll-c IV-d

C)l-c II-d W-=b IV-a

D)l-a ll-d lll-b IV-c
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9. eteu@pd gpmisafley 61% Filwmesig 2

10.

11.

a. igsss SMHNT FHSLIL] @)eoL_OleULILI LDGHTL 6V G(BEIFGHGSILIL| LDGWTL_GULD 6TGSTLILI(HILD
GOIFNW LOGYSTL_6VSSIL_GT BeoL_OlLInIB DS
b. Doldrum ereirigy <jeno@wimest opmith LoMDSInLg w STHBGT C)LIGOL 9p&HLb.
C. 25° wpmib 40° 9" FCrenssendh@ QL Gw o drer Fement GlauliLILOessTL v 2 Wit
S(pds Gl GDeor 3y FCrens 61685 Y PSSLILIGF DS
d. Geuevr_ricSav 60° opmyb 90° 9" #Crewssaiev afsLb .
CIOET
A) a wpmib b yWléews FMwmerg). C Hmib d eaupress)
B) b wpmib d oflsensser sflwunerenel. a oHmitb C Saumresig)
C) b, ¢, d osemsser FiwmesTenal. A 6TGTLIGI S6IDTCHS|
D) wmlsews a, b, ¢ sflwnesig. d eresiLig $aupresg)

OleueiGaupy erallevmest @QBSw BleoL gL euengLiL_nigser G CsmpsLILIL (heiTeTes.
apauieasFuied Qi yareney oLt wnss CFmess® Flwmest euMevFewd
Csip0sHEsa Lb.

A) HeveSlweir af, @aum ger’ af, 15 afil’, 9.&M afi

B) Bevelwer af’, 9@ afil”, @eaun gen’ afi, 15 afi”

C) heveweir afi’, 15 af’, 9@ afL’, Geurl gein’ afir

D) hsveSwes afL’, Gaunl gei’. afi, 9HM af, 15 afL

Gapemmalesr sesflo g Litien_uievrest Osmflebser opmib eupmlest @)pLii Lb

GG OCsrhdsLiLl Gererg). L gwelley GG GCsrRSsLILIL ReTar @Gplufl eor L
LwTLBSS Fiwnes LFeoawd Csiib0lsBHESa Lb.

L g uiey = | [MTYTE ||
(Czmpled) (@)r_tb)

l. @pFwesr Gurr 611id SILAIGI_L” a. HpeuesBSLITLD
II. Speunsigair HO)oessr eav aIAGL_L b. sevsasyri
. Gaperr &Careiv yevors” GlFgmidd Ligm & ev eHGL_L* C. Fmeugm
V. @ri@eday @QnFwes &Carev eSILAIGL L~ d. Gam L wib

@DIIH ST

A)l-d IlI-b lll-a IV-c
B)lI-b Ill-a Il-¢c IV-d
C)l-c II-d Wl-b IV-a
D)l-a ll-d lll-b IV-c
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12.

13.

14.

15.

16.

The theme of Earth Day 2022
A) Invest in our planet

B) Protect our species

C) Restore our earth

D) End Plastic Pollution

Consider the following statements concerning GST :

i. GST is a unified form of indirect tax in India.

i. The GST came into force in India with effect from 15 July 2017.

iii. The Union Finance Minister is the Chairperson of the GST Council.
iv. CGST, SGST, IGST, UTGST and CESS are different types of GST.
Which of the above statements are correct ?

A) iandii B) iii only

C) i, iiiand iv D) i, ii, iii and iv
Which five-year plan in India was framed based on Mahalanobis model of Indian
economic planning ?

A) Sixth five-year plan B) Third five-year plan

C) Fourth five-year plan D) Second five-year plan

Which State in India is the largest producer of bauxite ?
A) Odisha B) Chhattisgarh
C) Maharashtra D) Madhya Pradesh

The main objective of the New Economic Policy (NEP) of India (1991)
i. To bring down poverty and unemployment.
ii. To bring down the rate of inflation and remove imbalances in payment.

iii. Tomove towards a higher economic growth rate and build sufficient foreign exchange
reserves.
iv. To plunge the Indian economy into the arena of Globalization and to give it a new
thrust on market orientation.
Which of the above statements are not correct ?
A) ionly B) i and iii

C) i, iii and iv D) i, ii, iii and iv
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LA Sewrib 2022 @)651 eoLOWIGHBS S

A) BLog FI5sH LpBed(H GlFdiumIser

B) pLog @erdeansl Lngsnssa b

C) pLog yrbleow 5L Gl (REHa b

D) ermeivigs onsum emr (LpLyeyd@s GClEmessi(h) auhSed

GST Qgn_iiumes LeeumLd BléeEssaars HhSH CF16Tare,Lb.
i. GST eretrLig) @BPwnaled 2 6rer e @hBIFdewiBS eufalPILIL) g QILDTELD.
i. GST @QpFwraled ggdenev 1, 2017 (Lps6ed YLOWIGS UBSF.

iii. wsHw BFweniodsit GST $6yTFRGHT FEeLRITTES 2 GITATTH.

iv. CGST, SGST, IGST, UTGSTwpmib CESS 9 @weneu GST ulletr GleueiGaumy

QUGHSBHGT.

GLopserL_ Fpmisaiey 615 Filwmesig ?

A) i wpmyb i B) i o (b

C) i, ii opmub iv D) i, ii, iii tommyib iv

wanrewGermiiev waPf @QpFwrs Cummerngmyls L O eSer 9y LiienL_uled
@BpHwriled 615 @bsTETRS FIL L LD o (HeUTSHLILIL L & ?

A) wreig stk S b6 B) epeiimraig gonsmest(®) S e
C) mpresisneus) @bsres(y G L 1O b D) @ueds_reugy @bsment( H L LH_ev

@BHwraled 61hs LABleVLD LITdFL L yFHLb 2 PLISH C\FiIF DS 2
A) @uar B) sgZavsi
C) wsmymelyiyom D) ws@uw 195Cs51b

@pPwraler LBw Qummertsmys Glasrarensuilest (NEP) (1991)wps@wGrrdsib
i. aumyewLo opmib Ceuenevuilesienioemuld &Hendhd Gauess(hLb.
ii. uewreiss alBFS®BH GODEEa LD, LG CFQISSHIMPGV 2 6TeT THDSSTLDGSET
BEHEaLD.
ii. @®s QurmperisTy aueridd) el ssms CrreG) psibg CLmgomet BBw ClFevraeyt
Q@BLILISHET 2_(HaTHSHSH60.
V. @BHWL CUTBTTSTISS 2 VHLOWILDTSESEIGHT LIGDHGHET FeTEhUSHSGLD, Fhend
Crrs@hlencvuiley 9sm@ UBW 2 hFIsamavd CFTBLILISHELD.
Copser_ gpmisailey 61% Filuflevemey ?
A) i o @b B) i opmyub iii

C) i, iii LopmyLb iv D) i, ii, iii opmyb iv
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17. ldentify the financial institution working with the mission to promote sustainable
and equitable agriculture and rural development through participative financial and

non-financial interventions, innovations, technology and institutional development
for securing prosperity.

A) LIC

B) IDBI
C) IRDA

D) NABARD

18. Which nation occupies the top spot in the World Happiness Report 2022 ?

A) Ireland B) Iceland C) Finland D) Switzerland

19. Right to free and compulsory education is upto

A) 10 years B) 14 years C) 15 years D) 18 years

20. For which of the rights guaranteed under Article 19 the interest of sovereignty and
integrity of India is not a ground of restriction ?
A) Freedom of Speech and Expression
B) Freedom of Association
C) Freedom of Movement
D) Freedom of Assembly

21. Which provision of the Constitution reflects doctrine of pleasure ?

A) Article 310 B) Article 210
C) Article 312 D) Article 313

22. Chairperson of GST Council
A) Prime Minister

B) President
C) Union Finance Minister

D) RBI Governor

23. National emergency can be declared on the following grounds

A) War or external aggression or armed rebellion
B) Failure of constitutional machinery

C) Financial stability or credit of India or of any part of the territory thereof is
threatened

D) All the above

24. Which provision of the Constitution provides for the establishments of Administrative
Tribunals ?

A) Article 323

B) Article 323 A
C) Article 323 B

D) None of the above

-10-
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unIGspLy FG) LoHmiLb HB) FIuME SR LIL|FET, LSIeoLo6T, 0)SMSOBIL LIt LopmiLb
Blmieuer Gobuin® S weumpler epevld HleneuineT LoPmih FLOLOTGT @INeUFTIILD
LopmiLb SgaoliLm euerid@ews GLotbLi(hsgib CrBrésdaiL et Liesflyfujb Flnieiectsens
OIGHL_WITATLD HT6WT6LD

A) LIC B) IDBI
C) IRDA D) NABARD

World Happiness Report 2022 @b 6155 51 (LpSedl_deasLi LIy Sgi6mers
A) Sywievmia) B) aevevnps C) JSoLiettevpg) D) #ail Fievnpg)

@eveusF wHmIb HL1L_mud Foailldbsmet o Mewin @)bs QLG QUEHT 2 6TaNg)

A) 10 yer(pser B) 14 gew@aear C) 15 gyew@sear D) 18 gy ewrhser

F 1 19fey 19 &1 Sip 2 Ssg0unsb el Rerer o Mevivsafley @)b&Fwimalles
@epwressienio oPMILD @HELOLILITL 19 6T Fevesigher S HLILBSSLILIL L 16, 6Ih%
2 MewLos@nd@ Ll OLmbhsIs

A) Cué&s wPmib HhSSHI FSBSILD

B) gmis a55901b

C) Quss #zpF b

D) gemmimBoispsmar sspb

Y IFWeveLoLI6T 6165 all%) @)eriid Lupplw Caum um’ e 955 LSS DS

A) 9feay 310 B) 9May 210
C) ey 312 D) 9fey 313
GST seyes19edler Hemaveurt

A) Qusioir B) aam®u®
C) wsHuw HP oyeoLdar D) RBI sauicuri

LestauhLd 9yug Lo _ulev CsFw eusghleney MlalldsLiLiL_evmb

A) Cumi syebevgy Qeualliiyyp sHTdlLiL) sjevevdy 2w sCLEHw Heriss

B) wirfwevenioliny @Quibd st Canevall

C) @pFwraler F% BlenewsseTenio evevd LT Heevs g6t LITC5F5G) 6o
FGs@ILD R LGS AFFDISSILIG IS

D) GuwGev 2 éiter encidgiLb

YIFWeeLOLILIGT 6Th% allP) Bliaurs SILILMUBIS®ET FNIQaISDE QULPBIGHFDS ?
A) 94ey 323 B) 9fay 323 A
C) 9Me; 323 B D) GuwGe eigiab Qevenev

A11-
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25. Article 338 of the Constitution provides for the establishment of
A) National Commission for Scheduled Castes
B) National Commission for Women
C) National Commission for Backward Classes
D) National Human Rights Commission

26. Which Article of the Constitution imposes a duty on the Union to promote the spread
of Hindi language ?
A) Article 349 B) Article 350
C) Article 350-A D) Article 351

27. Who is the present Comptroller and Auditor General of India ?
A) Girish Chandra Murmu
B) R. Venkataramani
C) Dr. Bhagwan Lal Sahni
D) Dr. Manoj Soni

28. The Sarkaria Commission was headed by Justice Rajinder Singh Sarkaria.
Who were the other two members ?

i. B. Sivaraman
i. Dr. S. R. Sen
iii. K. Kunjaman
iv. Justice J. Patil
A) Onlyi B) All of the above
C) Onlyiandii D) None of the above

29. Jeremy Bentham laid down certain criteria for measuring pleasure and pain. It is

known as
A) Felicific calculus B) Materialism
C) Labour theory D) Surplus value

30. Who coined the term ‘Psephology’ ?
A) C. H. Thakkur B) Martin Viadimir
C) Thomas Jefferson D) R. B. McCallum

A -12-
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25. rfweveniolifesr 338 eug Lifley @ews BHlniejausnH@ 2 Me apBIHEDS
A) ulued Fn@ullepssTer CsFul gy ewenTiLD
B) Gluewisendsmer CsFw gy enemtitb
C) Du@SsSLILL L euGLilesimdsner GG o), enewnTiiLb
D) Gs8w wesfls o Menip yemewtiib

26. @59 Glomplullesr Ligaumev 261dh@&alb@GHLD HL_HLOIL YTFNIG) FTFHISHEHT 6IhSLI
fley yellwens@ aNFsHns 2
A) 94ey 349 B) 9May 350
C) 9May 350-A D) 9Mey 351

27. Q@p@wrales spHGumensw &bl Gymevri opmitb gL’ L 1 Qlegewrged wimi ?
A) @fey ST (Lpiwp B) R. QeumisL_gioewst
C) Dr. useunes evmed Franes) D) Dr. wGesrrgy Garmest)

28. gidasmiur sbleayest FHLS) gngdlbsT ki FissTWT Feveveniouiled Q)(BhSSI. LoHD
@ oess(h) 2 pyLiSestigseir w9

i. B. @eugmoesr

ii. Dr.S. R. Glger

iii. K. @epaLomesr

iv. p8UB J. Lm e

A) i o @b B) GG 2 siter 9jemensdgiib
C) i wpmub ii o B)Lb D) @emau e1giayb @evemnev

29. Gl ClupsLd @)GSTLiD LoPMILD FITLISMS IeTalBesn@ Fev ara)CsTcvHemar

UGSSTT. Q)5 6168 YBWLILIBRF DS ?
A) %0 LIRS FTeLEG Ve B) Qummper wpsevaunsLd
C) OQsmblevmeri CasmLim® D) o i &y

30. ‘Psephology eresip Glenevemev o (heumd@wieui wimi 9
A) C.H. Lmggir B) wmi e eflern@dli
C) smwev GlsgLiigest D) R. B. Qwé&sevib

A -13-
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31.

32.

33.

34.

35.

36.

37.

The four basis of departmentalisation, Purpose, Process, Persons and Place popularly
known as the “4Ps”, is a concept developed by

a. Luther Gulick
b. Chester Bernard
c. Woodrow Wilson
d. Lyndall Urwick

A) Onlycandd B) Onlyaandd

C) Onlyaandb D) None of the above

Who wrote the book “The Problem of Rupee : Its origin and its solution” ?
A) Annie Besant B) J. B. Kripalani

C) B. R. Ambedkar D) Charu Majumdar

The Kerala State Commission for Protection of Child Rights came into existence on
3" June 2013. Who is the present Chairman of the Commission ?

A) K. V. Manoj Kumar B) Justice Sreedevi
C) Dr. Radhakrishnan D) Justice K. G. Balakrishnan

A laboratory technique used to establish a link between biological evidence and a
suspect in a criminal investigation is

A) Polymerase chain reaction B) DNA sequencing
C) DNA fingerprinting D) Gel electrophoresis

The chemical which accumulates in the muscle causing tiredness, when you try to
chase a person is

A) Acetic acid B) Alpha-Lipoic acid
C) Linolenic acid D) Lactic acid

The immune cells usually attacked by AIDS virus is
A) T. lymphocytes B) B. lymphocytes
C) Natural killer cells D) All the above

The indirect protection from an infectious disease that happens when a population is
immune either through vaccination orimmunity developed through previous infection
is called

i. Population immunity

ii. Cell mediated immunity

iii. Innate immunity

iv. Herd immunity

A) iandiii B) iiand iv C) ii andiii D) iandiv
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32.

33.

34.
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37.

130/22 -T

Purpose, Process, Persons wpmib Place o&w presi@ sieop SygliLient_ser,
“4Ps” erettny L9guievons YPWLILBGSSTDET. Qens o (HuTSEHIS]

a. Ish &%

b. Qgavii GlicrmiL

C. 2. Ggr afevFast

d. eSewr_meb o fadld

A) ¢ wopmib d o b B) a wpmib d o Bib

C) a wpmib b o @b D) @emeu e1gyayiblevenev

“@) Ligmliemb gLt epll : @ ev erigdleir gyewi @eav CHieIapetT’ 61D LS55
eT(LpP Wt ?

A) ciresf) Gligesr” B) J. B. &@Lievmesf]

C) B. R. obGugsi D) #n@ oggdibsmr

GLheE o Mewiosenartl LTgSTLILSHSTNT CHgar omble gyewentwib 3 ggder 2013
T L (LPDEH@ UbBSEI. HLhlapesier $HCLITFW Seeveud wmr ?

A) K. V. wGerrgy @Lomi B) £91% wiCsal

C) Dr. gngn&)meayecvresr D) £9u% K. G. Lmew&)peayssres

2 uflwed FrINISEHSGL GpHLallwey alFTreanenTulley FbGHHLILIGILD bLI(HSSLD
@en_Cu ey OsrLiieoL apLIBSSLI LWGTLGSSLILIGILD UI6US BIL LILD

A) LrediwCGrev OFuNesT Muwimdmuest B) DNA &s@euciidmi

C) DNA % 9mi1si 19fesrig mi D) Gleed er6v8L" CurGunGurav

BrEIGET heuangd HIId5s (LpwabGungl, seFuilev Cxipsg CFmienes o BTl mdh@LD
@ oFmwestLD

A) 9196 bevib B) <@yevum-aGumuis yihlevib
C) 9CaGlevefld yiblevib D) anréigs 9bevid
Clungieuns e1iil eV emeugenmed SrESLILIGLD CrTelwS) ity Clecvaser

A) T. ObCLimenaL” (HhEeT B) B. e9bCunenai” (H%er

C) Grdapev Hevevii OlFevseir D) GuGev 2 ditar oje»esigdgiLb

SOLULT apwwrsCair yoewg whavgw CrmuidGlgrpmler epevionsGeair
o peundasLiul L Crmil By F&F) epevlons (b LoE&H6T0STenE CHmil 1L
F&Feow Osreni(®) @)bé@&CLTg eapu® CsmHry CrruledBhbs HeoL_&@Lb
LODLPSLT LITHISTLIL] 6TLILILG e®LpdHHLILIBHB DS

i. umiyGevayest Crmul 61HALIL 555

ii. Gge B9 Cui_1” Grmdl 1Bl 555

iii. @erCar’ Grpmus e1H LI 555

iv. Qamic Grmil 1By 555

A) i opmyb iii B) i ommyib iv C) ii opmyb iii D) i opmyb iv
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38. Mass drug administration is administered by the government to eradicate

39.

40.

41,

42.

43.

44,

A) Malaria B) Filaria
C) Dengue D) Chikungunya

A ball is thrown with a velocity u at an angle 6 with the horizontal. At the highest
point of its flight, the horizontal velocity is

A) zero B) ucos6 C) usiné D) u
Which one of the following is in the increasing order of wavelength ?

A) Infrared, Ultraviolet, X-ray B) X-ray, Infrared, Ultraviolet
C) Ultraviolet, Infrared, X-ray D) X-ray, Ultraviolet, Infrared

A piece of wood of total volume V is floating on the surface of a liquid of density p.
If the density of wood is d, the volume of wood immersed in the liquid is

Vd Vp pd \'
A) — B) . C) Vv D) od
Nobel prize in Physics 2021 was awarded partially to Syukuro Manabe and Klaus
Hasselmann for their studies related to
A) Properties of exoplanets
B) Cosmological models
C) Global warming predictions
D) Photoelectric emissions

Given van der Waals constant ‘a’ for NH3, COZ, NO and F2 are 4.225, 3.658, 1.460
and 1.171 respectively. Which one of these gases is most easily liquefied ?

A) CO, B) NO
C) NH3 D) None of the above

Astatine is the element below iodine in group 17 of the periodic table. Which of the
following statements is not true ?

A) ltis less electronegative than iodine

B) It will exhibit only-1 oxidation state

C) Itis a dangerously radioactive element

D) Itis the heaviest member of the halogen elements

-16-
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@bs Crreow uflss pFmsisLd GlLiibLoaTallevTes LFhssenar @Gr CrIsHeh Lk EnHskdE
ALY

A) wGeflwim B) o%e»LiGevmuim
C) GLmig D) @s@ergetiwm

RH LBgI @5 Carenid@ev U CaussgiL et 0 Fenl oL’ 1 dgiL 6T afFILIGBDSI. S5
s 2 wihs QL sHe0 ClFevabGLingy g6t Hevr oL L Ceusib

A) yeedluib B) ucosb C) usind D) u

LI TeU(BUGTRUINMIG) 618 IVBATSS T eIl ufenFuilcy 2 6iTeng) ?

A) 9EFPauliy, yp g, etéevCr B) e1¢avCr, 9ys5Pauliy, Lp oengm
C) ymw 2a1g1, oysiFauliy, e1devGy D) e18avCy, Yy 2e151, 9SFFeULILY

YLD p @ 2w @ HowusHer Cupugliied, GCwrss yeara/stenr V
2 LW LOISDHHT @R(h HIGHI(H LISEFDSI. LoIsHet L 5% d e16pred, Freussed
e pHUNBHSLD LoISG6H Sfera)

Vd Vp pd \Y
A B) o D)
QupLiweydsres Grmucv Lifla 2021 §lujsGr werrGL wHmb Fetrev ammeed GLoGHT
B CWmHsGH euisellest Qbs U1 SHTH ULPBIGLILIL L G

A) ywdCEmeirsaieT LIGHTLIS6T

B) e _alwed Lon@Maser

C) yai GeuLiLioenL_S6» HewflliLjSHeT

D) eafl Lhesterpds o LOlLpayselr

NH3, COZ’ NO wmpmiib F, 9Sweipmidsrer aimer Qi eumevev rmled ‘a’

wpepGw 4.225, 3.658, 1.460 wopmid 1.171 @1b. @QBs umydsailey 61 eraflBed
BrauonssiL@Sns ?

A) CO2 B) NO
C) NH3 D) GuGe eigiayb Qevenev

D[GVL_TEWL_GHT GTGTLIZ HTev L L_auewentullest &p 17 @)ev 2 airar yGwimg svid@ GLp
2 G767 FGHILOLD Y @LD. LIGTEUBHLD FnPHMISATIGV 6THI 2 GHTENLOIIGVG ?
A) Qa1 Cumyemer I Gempaeures eevdL CumlBdLy el gy@Lb
B) @s1-1 958xCamp Hlevewenw o BHGo GleuaflliLi(hdagib
C) Qs 0 YLsSST6ST SFMds Fesflotb 3y,@&Lb
D) @& amnGevnggest sesfliomiseflesr Seromest o miliL) @Lb
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45. Fear or excitement, generally cause one to breathe rapidly and results in the decrease

46.

47.

48.

49.

50.

51.

52.

of concentration of 002 in blood. In what way it will change pH of blood ?
A) pH will be increased

B) pH will be decreased

C) no change

D) pH will be 7

Which organization has developed high-strength beta titanium alloy to be used in
aerospace applications ?

A) The Defence Research and Development Organisation (DRDO)
B) Indian Space Research Organization (ISRO)

C) American Institute of Aeronautics and Astronautics (AIAA)

D) The National Technical Research Organisation (NTRO)

Who among these was the director of the movie “The Power of Dog’ ?
A) Steven Spielberg B) Paul Anderson

C) Jane Campion D) Chloe Zhao

Who was the winner of Australian open 2022 Women'’s Singles Final ?
A) Danielle Collins B) Simona Halep

C) Naomi Osaka D) Ashleigh Barty

Jain temple ‘Vishnugudi Basadi’ also known as Kallambalam is situated in which
district ?

A) Wayanad B) Kasargod

C) Palakkad D) Kozhikode

Who is the present Chairman of Kerala Lalitha Kala Akademi ?

A) Nemom Pushparaj B) Murali Cheeroth

C) Abdul Kareem D) P.V. Balan

Four times the first of three consecutive odd integers is 6 more than twice the third.
What is the second integer ?

A) 11 B) 13 C) 9 D) 15
Milk contains 7% water. What quantity of pure milk should be added to 10 litres of
milk to reduce this to 4% ?

A) 6 litres B) 7.5 litres
C) 6.5 litres D) 8.5 litres
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OCumgeuns LWL 9evevs| 2 PFTHLD, GHaUeT CousLons HeUTHSHF CIFLIL HTTERTLOTEDS]
woppid @QusssBad CO, Cleplaar GopSps, @Gsi s aumsulsd GrsssGar pH g
LoaHMILD ?

A) pH 9@sfé@Lb

B) PH gepuib

C) wmpib @evemev

D) PH7 95 Quésid

aflesrOeual LweTLITRSeN) LIWGTLBSHIMUSHHTE AFS aiedleoin Glesmessi L m

L L L_mesfluith Hevenalenis 6Th% DEOLOLIL] 2 (HoUTSFGToTS| ?

A) ungysmiiy urmidd wHmb Cobum’ G Blayeussb (DRDO)

B) @s&w alflewGleuaf g rmiis& Blmieussib (ISRO)

C) O wMdser @ettavigiguyl” ool aGuaprigdeav el gy avl CrapmL iy dav
(AIAA)

D) Gas@w Qsmpfevmi 1 yomisd Blmieuesib (NTRO)

@auisafled ‘@) LeuT oLl L1d LIL_SFeT @Quid@GHesti w2

A) avieaueit avLfev0LITE B) wimeb gyeverL_riaair

C) Gegeir smbLuwiesr D) $Germud gonGeur

2evFCgedhu et 2022 waefli epewpwii @mGr Gumigufled Gleussimeurt wmi 9
A) Q_aNwed Fmederav B) @Gnesm apnGlevL

C) pGeumh) garsr D) <euGev Limit’ig

HGOGULDLIGLD TGN e pdsLiiBILD ‘alanessyly LFLy etetp Gleguilesr Camuiled 6Ths
LOTRQIL L SH6V GOLDHSGIGTGNS ?

A) auwipap B) srgiGsn(

C) unevssm(h D) GamflsCasm®
Cagart ewallam ser Ysm_Hulest $HCLITENSW FeOaur Wi ?
A) GpLotb LyeiuLigmed B) woral &Gpns
C) <Ligiev &ifib D) P.V. umeveir

epestmy OFm_iFQuwimes @penpLILIL (LpLp 6Tasalleh (LpF6h eTewHafled, BT6H S,
LDL_BIGTGSIG), CLPGITDToUS| 6TevsTenllesr Q)uessi(h) oL micnEalll 6 PHHLon% Q)(HEF D).
T IGD, (Q)ITGUTL TGS (LP(Lp GTGHT GIGHTGT ?

A) 11 B) 13 C) 9 D) 15

umedled 7% pir 2 eitons). Qevs 4% Ysdh Gowds 10 S LimeyL 6T eTeicuaTey
FSSLomest Limev Carids Geuesst(hb ?
A) 6 St B) 7.5 &Sl i
C) 6.5 0 it D) 8.5 Sl it
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53.

54.

55.

56.

57.

58.

59.

60.

61.

If goods are purchased for Rs. 240 and one-third of them sold at a loss of 7%, then at
what profit percentage should the rest be sold to obtain an overall profit percentage
of 5% ?

A) 10% B) 12% C) 14% D) 11%

If a carton containing a dozen mirrors is dropped, which of the following cannot be
the ratio of broken to unbroken mirrors ?

A) 2:1 B) 2:3 C) 3:1 D) 5:7

A tyre has two punctures. The first puncture alone would have made the tyre flat in
10 minutes and the second alone would have done it in 8 minutes. If air leaks out
at a constant rate, how long does it take both punctures together to make it flat ?

A) 1%minutes B) S%minutes

, 4
C) 3% minutes D) 45 minutes

A clock is set right at 9 a.m. The clock gains 10 minutes in 24 hours. What will be
the true time when the clock indicates 2 p.m. on the following day ?

A) 48 minutes past 1 B) 52 minutes past 1
C) 46 minutes past 1 D) 49 minutes past 1

Drill : Bore : : Sieve :
A) Pry B) Thresh C) Sift D) Rinse

Find out the wrong term in the number series :
8, 14, 26, 48, 98, 194, 386
A) 194 B) 48 C) 98 D) 14

Ravi walks 9 km towards North. From there, he walks 5 km towards South. Then
he walks 3 km towards East. How far and in which direction is he with reference to
his starting point ?

A) 5 km, South-East B) 5 km, North-East

C) 7 km, South-East D) 7 km, North-East

On 10" March 2005 falls on Friday. What day of the week was it on 10" March 2004 ?
A) Monday B) Tuesday C) Wednesday D) Thursday
Green Marketing principles relates to

A) Agriculture Marketing B) Preservation of Environment

C) Social Marketing Environment D) Organic Product Marketing
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53. em. 240 d@ OlunpL senar eumsiF), H4B6 eLpesTIeh e LisI@ QLimBL a6l 7% BayL_dFev

54.

55.

56.

57.

58.

59.

60.

61.

QHsLiL L mev, Owrss wru saisonear 5% Clup WswpeTaTeupedD 6Ths GUTLI
F507555 0 alns Cauews(HLb 2
A) 10% B) 12% C) 14% D) 11%

R L Q6T HETWITIY ST Q&mewr 9L el L16lul g ewsall il L meb,
LesTeuBeuaTaUDHI) 615 2 DL S LOHMILD 2 L _WITH HeETeRTTL) SN aINFBBLOTS
Q5s wpyuwng ?

A) 2:1 B) 2:3 C) 3:1 D) 5:7

@b Lwifed @uessi(h) LEhFT 2 6Teng). (LpsHev LIEhFImew L @b 10 FlLbl_misafeh
Lwi s e wins YHalBLh, @)IenT_meus LehFamed ol (Hib 8 Blbl_misefled L wit
Sl L wis YHaNGLD. s1Hy Forest alFss5F e CleuallCunleted, Iens SL L WTsk

wamw @)oes(h) LehsFisepd Caibgl eraiaiane Grub e1(hS@HL ?

A) 1%minutes B) S%minutes

, 4
C) 3% minutes D) 45 minutes

s 9 Lewlld@ @ S sTIh FNOFIWLILGSDS. HysTID 24 wewfl CrrsHed 10
BILAL_miser Qup@Sna). $19&MIb YBHSS Her LPwLb 2 Loessieowd @GplsEL Cuing,
2 arenLowneT GBILD 616HTeTauTs @) (BSEGHLD ?

A) 1 wewfl 48 HlblL_migeir B) 1 wewfl 52 HlLHL_migeir

C) 1 woewfl 46 BlLOL_miseir D) 1 wewfl 49 HlblL_miseir

1gMev : Guimi: @ Feur :
A) Liewg B) %0Glgey C) au D) Mesrav

61637 cuflenFuiey SaipreT OFTIE HeTL_MHluiayLb.
8, 14, 26, 48, 98, 194, 386
A) 194 B) 48 C) 98 D) 14

gaifl auL&@ OCprs& 9 Km pLps GCecb@pmi. yuFwoHs Clenpe GCrréss 5 Km
BL&GGmi. et eui Fps Crréd 3 km pL_sGpmi. sjeur seig Osm_ssL
yerauleSl(phg) 6T616uaTey HITLD LoPMILD 6ThF DevFuiled @)BSBmmi

A) 5 km, Qse1@pd @ B) 5 km, au_&ipss

C) 7 km, Gsei&pda D) 7 km, auL_&ps

wmig 10, 2005 ey, OevuerafldGipenio aup@ma). i 10, 2004 ey eumgdGesr
61b% HI6IT

A) Sriser B) Osaicaumii C) yseir D) afwmpesr
L&D FHSLILIBHSSISH OFTeTensH6T L6 TaUHLOT)

A) aleusmu FHenSLILIRSS6 B) #pmid@penevlt Lng%ngsev

C) seps shmFLILBSF® FLpev D) wyisrefls swrfliiny shensliLBSse
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62. ‘Marketing Myopia’ is based upon

A) Current product offering

B) Forecasting the future product offering
C) Dropping a product

D) Adding a product

63. Promotion Mix includes

64.

65.

66.

67.

A) Physical attributes, brand, package and PLC

B) Advertising, publicity, personnel selling and promotion

C) Transportation, material handling, packaging and customer service
D) Brand name, product benefits, delivery and credit

Marketing concept is

A) Exchange concept B) Material concept

C) Supply concept D) Agreement concept

Skimming pricing implies
A) Experimental pricing B) Low pricing

C) High pricing D) None of the above

Which among the following has not described the scope of Human Resource
Management according to the Indian Institute of Personnel Management ?

A) The Personnel Aspect
B) The Welfare Aspect
C) The Indian Relations Aspect

D) The Economic Aspect

Human Resource Planning is the process of determining manpower requirement
and the means for meeting those requirements in order to carry out the integrated
plans of the organisation. Who said this ?

A) Bruce P. Coleman B) Peter F. Drucker
C) Edwin B. Flippo D) Henry Fayol
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62. ‘wmis0lsgm wCumIur Qs g Liien wns ClsmessL_g)
A) spCunensw SwmiiiLy eupBIEed
B) e1@ismev swnflli sepyensemw (Lpeiretplaidse
C) am Ourmpear ensal(hFev
D) ew swrflieous Cigaey

63. aflarbLir sevemaiuied (Promotion Mix) iesreupeuest oy mi@Lb
A) QupLiwed LiessTL|dammyser, Lgmenrl, CudGsgh wpmib PLC
B) eflembLiplii®ssised, alenbLgid, Liewlwumemiser alHLIenesT LoDmILD FHeOSLILI(HSSH S0
C) Cumd@gaunsg, #ud@ eswrerear, CusGsalB wHmib eumgsenswmeart CFaneu

D) e Gluiwii, swrfiiy Levestaser, alBGw s LoPpmiLb LG

64. FHSLILIHSH FH(hdSH GTGTLIS]

A) uflonpp FmSSHI B) Qummer smssi

C) auprised sw551 D) euLpss56 51551
65. avGIbLABI allemevenis G EIIETS

A) ufGsngener allewev bliesswiLd B) geowis allencv

C) 9%s alewev D) GG s1giayb @)evemev

66. LlereupeuaTaupPled 618 QBHw Lessiwmart Goevressenio BlmeueTdHeTiLy Loeils
auar Guoevresstenouilest Cprsssens allaufssallsveney ?
A) Liewlwimerisenes ojLbaLb
B) meveirym oybaib
C) @Bsw 2 pajsailer bsLb
D) Gummertsry ojLbFLb
67. weflgeuerds L 1L 60 661G LesfiGeauers Csemeuedwd SiomesfliLismnasmes

QEwewpempwm@db wHHILD BFNIeTSSH 6T 6@hnISH e ewIhHS B LU L 5% ard
QFweLIBSSIUSDG bss CoHemeusamants Liss CFwieusnasmeaT eulflLpemuwm@Lb.

@& W FEmplesmr 2

A) yemav P. CamevGroesr B) i F. nossi
C) e afletr B. o%L 968 5GLim D) Gamesi) o’LiCuimed
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68.

69.

70.

71.

72.

73.

74.

RJP is an approach used to match the organisational needs with that of the applicants.
RJP stands for

A) Ready Job Process

B) Real Job Performance

C) Realistic Job Preview

D) Rating in Job Participation

Which among the following is not a modern method of performance appraisal ?
A) BARS B) MBO
C) Field Review D) Assessment Centre

Clayton Alderfer’'s Theory of Motivation is
A) ERG Theory B) Theory Z
C) Two Factor Theory D) Vroom’s Expectancy Theory

Which among the following is not a capital receipt ?

A) Dividend on investment

B) Bonus shares

C) Sale of know-how

D) Compensation received from vacating business place

Which of the following is not related to overall market variability ?
A) Financial risk

B) Interest rate risk

C) Purchasing power risk

D) Market risk

Which of the following tax rates is not applicable under GST ?
A) 5% B) 12% C) 25% D) 18%

Inflation free instrument is
A) Option Bond

B) Variable Rate Bond

C) Index Linked Guilt Bond
D) Deep Discount Bond
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RJIP ereirig) afewsemsiiignpigeflesr Blneuets Cseveusenarts LjisG GlFuieusm@L
LwWGTLGSSLILELD 9es&pepwn@b. RIP ererugest allfleurdsib

A) Qg goms LignGleneiv

B) Mweb gomi’s GliiobLimGipetren

C) MweSlevigs goms LiMadlel

D) Q' wgmr @)etr gomis i 19 ACLicyesT

LesraupeuastoupBley 618 ClFwOSDET LB LI 19681 pafes (Lperp yebev 2
A) BARS B) MBO
C) sar gy uiay D) w® i ® ewiowib

FCarL L6851 9YeVL_To%LIfesT 2 pgiFev CHmLLimR
A) ERG Gsri’ B) Z Gsm_un
C) @uewn(y smgessti CamLimp D) euenidlesr e1@iimiciyy Cam Lim®

LieiTaupeuaTaIDPIeh 618 CLPVSET TFH 9evev ?

A) pseSL 19 68T LBHTaT Fayd0lsTens

B) Gunesev Lisi@ser

C) winleneu alpLienaeT OlFuised

D) cuenflas @QL_gens H16d OFuiiauBeSmpg Guprii L @ik

L9esteu(peuaTeupmley 615 gL HOILoMSS Fhens Lommuim” (L6 CIBML_L{eHL WG| 9Jevev ?
A) £S5 Ldsi

B) eulig a9Fs 155

C) unsigLb 565 LS5

D) spens ridsi

GSTulleir G1p LDes16upLd 6ufl alPsmIGafed 618 ClLITBHSTSH ?
A) 5% B) 12% C) 25% D) 18%

uesafEELD Q)evevns Hmaldl

A) a9l ugP b

B) wmmib e9%BsL1 LGS oD

C) @oui @®Ler QenesdsliLl L GDoL LSPILD
D) <ypioner serapLig LigSob
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75.

76.

77.

78.

79.

80.

What is ‘NIKKEI’ ?

A) Share Price Index of Tokyo Share Market

B) Name of Japanese Central Bank

C) The Japanese name of country’s planning commission
D) Foreign Exchange Market of Japan

Which of the following factors contributed to the development of corporate
communication ?

A) a unified way of looking at ‘internal’ and ‘external’ communication disciplines.

B) advancement in digital technology

C) comprehensive understanding of the organizational environment and stakeholders
D) all of the above

The dissemination of factual information regarding an organization’s past actions is
critical in the development of its

A) Propaganda B) Reputation

C) Spin D) Advocacy

The fundamental difference between the Code of Athens and the Code of Venice
was the incorporation in the former.

A) Ethics

B) Professional Conduct
C) Marketing Communication
D) Corporate Governance

Public relations that are effective guarantee

A) One-way, centralised, symmetrical internal communication
B) Two-way, participatory, asymmetrical internal communication
C) Two-way, participatory, symmetrical internal communication
D) One-way, participatory, symmetrical internal communication

Which of the professional standards listed below contributes to a well-informed public
debate ?

A) Honesty B) Advocacy
C) Loyalty D) Integrity
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‘NIKKEI eretipmed ereseer 2

A) CLrsRCwr kg Fhegulles LIkIE alleoeavd @&mnlui®
B) guiunesilu wgSuwr euniGuiesr GlLiwii

C) priiger Pt d@upaier grimestl OLiwir

D) extiumeflesr oypblwr Glaevmeusssi omig 6L

sTiCILGIL. $H6ucOOSTL 1L euaTidds@ Leteupd srgeslisailch 615 LBISaNSSS5 2
A) 2.6 wppd CleualliLyp Q&mL_iiL) FIevDF®GTLI LITiS@GHLD (b G(BEIFesIhS L)
B) g e Qsmblevmi LsFed wpestGasipmLb

C) Blmicuest @Lped LoPpmitd LIBIGSTIiS6T LpPlw adfleurest Lfged

D) GuGov 2 éirar oyemesidgiLb

R BIIQUGTOUSFGHT HL_bF HTev bL_aLY SHeBHGT OB TL_ITLITGCH 2 GTenLDd SHaUCHEGITL
LgLILeUS)|, BT UATTFFUNG (LpSFNILDTESIS]

A) 9g&gmib B) yaip

C) s D) eussnevsgi

9 Glgettav wpmib GCleuaflev @GPk < YFwaipms@ Qe Cuuwmet Sy LiLien
Goumyim(® 9 GHLD.

A) GBplLpemsEeT

B) Clsmplbwperp pLdews

C) ghewsLiLi®sse OHm_iLy

D) g ® Blieunsib

LIWIGRIGTAT 2 SSI0UTSLONS (Q)(BdH@LD LoSHET O\ TL_iL|dseir

A) e e, wwliL@SSLILL L, FIFET 2 6T O)HmLriy

B) @ e, umiGspry, FodGFupm o 6ir Glgm iy

C) Qw eu), uBIGspL), FLEFT 2 6T ClSmL_iLy

D) ow euf, ubiGapL), FFGi o 6t OQsm_riry

GG ul gwedl i’ Gerer Csmfledpenn S Hlevevsailed 618 BesTE P L
Oung aeunssFnEG LBISeNGEEDE 2

A) GprieoLo B) eussmevs s

C) adlseunsib D) eupssib

-27-



130/22 -T

81. What is the antonym of the word ‘nadir’ ?

A) Ravage B) Abundant C) Zenith D) Solicit
82. Supply the correct verb.
Jim, together with his son the project.
A) introducing B) introduces C) introduce D) are introducing

83. Correct the sentence.
Liona refrained to pay the fees.
A) Liona refrained from paying the fees  B) Liona refrained at paying the fees
C) Liona refrained to paying the fees D) Liona refrained by paying the fees

84. Fill in the blank space with a question tag.
Nobody came, ?
A) Do they B) Didn’t they C) Did they D) Don'’t they

85. Fill in the blank space with the correct preposition.
, it is already late.
A) Beyond B) Beside C) Besides D) Between

86. Convert the sentence into indirect speech.
The teacher asked him, ‘are you ill 7’
A) The teacher asked him if he was ill.
B) The teacher ordered him whether he was ill.
C) The teacher told him if he was ill.
D) The teacher asked him he was ill.

87. Fillin the blank space with the appropriate word.
The snacks were when the mother came.
A) All ready B) Already C) Altogether D) All together

88. Convert into active voice.
The car has been repaired.
A) Someone repaired the car B) The car was repaired by someone
C) Someone have repaired the car D) Someone has repaired the car

89. Supply the right idiom.

Sam for the fancy number.
A) Made quite a bit of headway B) Paid through the nose
C) Got afinger in every pie D) Had an axe to grind

90. Fillin the blank space with the apt phrasal verb.
Is anybody willing to the task ?
A) Take off B) Take for C) Take on D) Take in
A -28-
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91. ‘2 sl Cungienp 616D 96 LpdhsLILI(BeUS
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9. ‘Qsp@all 2 ul0rpsssHeT WiTeneu ?
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